ASSIGNMENT
. From the following information you are asked to find out
market value of the firm from the given option:

(Fixed rate of return) retention ratio(r):

e R1= 25%
e R2 =50%
e R3=70%

Assumed cost of capital and rate of return is:
e 170%

e 180%

e 170%

EPS is rupees 30 per share.

. Explain walter’s and gordan model in detail?

3. Explain the types of dividend policy?

. Give reason: M.M. Hypothesis why it is not relevant with
dividend.
. Difference between relevance model and irrelevance

model of dividend decision?



